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Instructions for Candidates:

1. Attempt ANY FOUR Questions out of given SIX Questions.

2. Simple Calculators are allowed to be used.

3.Answers may be written in Hindi or English but the same medium should be followed throughout the paper.
4. Working Notes should form part of the answer.

5. Answers to theory questions should be brief and to the point.

1.(a) EFFICIENCY Ltd. manufactures 20,000 units of X’ in a year at its normal production capacity. The unit cost as to
variable costs and fixed costs at this level are =~ 26 and =~ 8 respectively. Selling Price per unit is = 40. Due to trade
depression, it is expected that only 2,000 units of ‘X’ can be sold during the next year. The management plans to shut-
down the plant. The fixed costs for the next year then is expected to be reduced by 60%. If the plant is shut down,
plant maintenance would cost =~ 18,000 and on reopening of the factory, cost of overhauling the plant and cost of
training and engagement of new personnel would amount to = 6,000 and 2,000 respectively. Should the plant be shut-
down? What is the shut-down point? [5 + 3.75 = 8.75 Marks]

1(b) Define only in one line the following terms:[1 x 10 =10 Marks]

(i) Performance Budgets (ii) Responsibility Accounting (iii) Cost Indifference Point (iv) Key Factor (v) Angle of
Incidence (vi) Cash Break Even Point (vii) Differential Cost (viii) Sunk Cost (ix) Committed Cost (x) Budget Manual.

2. EXCELLAENCE Ltd. can produce three different products from the same raw material using the same production
facilities. The relevant details are as follows:

Particulars X Y z
Maximum Market Demand (units) 6000 4000 3000
Selling Price per unit () 250 200 400
Raw-Material as % of Sales Value 80% 60% 75%
Labour Cost per unit (') 24 40 12

Overhead Rate is = 10 per hour of which 60% is fixed. Maximum Raw Material available 1,00,000 kg @ = 20 per kg.

Maximum Production hours available 18,400@ 16 per hour. Find out the Product Mix to yield maximum profit
and determine the Profit at the selected product Mix. [18.75 Marks]

3.(a) RESPECT Ltd. manufactures three products X, Y and Z. The unit selling price of these products are = 50, 30
and = 20 respectively. The corresponding Variable Cost to Sales Ratio is 20%, 30% and 50%. The Total Fixed Costs
are ~ 119,66,000.Sales Quantity Mix Ratio of products X, Y and Z is 20%, 30% and 50% respectively. Calculate
Overall P/V Ratio, Overall Break Even Quantity and Break Even Value of Product X. [5 + 2 + 2 =9 Marks]

3.(b) LOVE Ltd sells two products, X and Y. The Sales Value mix is 2 of X and 3 of Y. The P/V Ratio is 80% for X
and 20% for Y. Fixed Costs are ~ 12,32,000. Compute the individual break-even point of Product X. [6 Marks]



3.(c) Installed Capacity 1,00,000 units, Normal Capacity 80%,0pening Stock 10,000 units, Units Produced

80% of Normal Capacity, Fixed Production Overheads = 24,00,000, Variable Manufacturing Cost per unit for valuation
of stock = 80 (including Variable Production Overheads = 8 ).Profit under Absorption Costing = 21,50,000.Profit under
Marginal Costing ~ 20,00,000.Calculate the units sold. [3.75 Marks]

4(a).PATIENCE Ltd. manufactures two products X and Y. Product X requires 5 hours to produce while 5 units of
product Y can be produced in one hour. In July 6000 units of X and 30,000 units of Y were produced. Activity Ratio is
93.75% of Capacity Ratio and Capacity Ratio is 102.4% of Efficiency Ratio. Calculate Idle Capacity Ratio.

[ 6.75 Marks]

4.(b) Average of Actual Price per kg of material and Standard Price is = 45.Difference between the Standard Quantity
of material required per unit and Actual Quantity of material is 16 kg. Average of Standard Quantity of material
required per unit and Actual Quantity of material is 52 kg. Material Cost Variance is  200. Calculate the Material
Usage Variance. [12 Marks]

5(a). BRILLIANT LTD. provides the following information:

Particulars

Last Year's Budget

Last Year's Actual

Production (units)

20,000

18,000

Labour Cost

" 16,00,000 @ 40 per hour

" 15,99,840 @ 44 per hour

Variable Overheads

" 4,80,000

" 4,32,000

In the next year, production is budgeted for 25,000 units. Labour efficiency will be lower by another 1% and labour
rates will be = 44 per hour. Variable overheads will go up by 20% over last year's actuals.Calculate the Budgeted
Labour Cost and Variable Overheads for the next year. [7.5 x 2 =15 Marks]

5(b). List three methods of Disposition of Variances. [1.25 x 3 =3.75 Marks]

6(a) Write only one basic difference between each of the following: [1 x 10=10 Marks]
(i) Cost Accounting and Management Accounting.
(ii) Standard costing and Budgetary Control.

(iii) Cost Control and Cost Reduction.

(iv) Zero based Budgeting and Traditional Budgeting.
(v) Variable Costing and Absorption Costing.

(vi) Product Cost and Period Cost.

(vii) Standard Cost and Estimated Cost.

(viii) Direct Cost and Variable Cost.

(ix) Fixed Budget and Flexible Budget.

(x) Profit Centre and Investment Centre.

(b) List the four methods of measurement of divisional performance and explain any one of them with the help of an
example. [1+1+1+1+2=6 Marks]

(c) List the two basic characteristics of Relevant Costs. [2.75 Marks]
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